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@ sinx = AB cosx = OD tanx = OA
@ sinx = AB cosx = OA tanx = AB
@sinx:C_Dcosx:O_Dtanx:E
@ sinx = CD cosx = OA tanx = OB

® sinx = BC cosx = OC tanx = AB

Sinx:C_D:C—D:@
oC 1
cosx:O_D:O—DzOD
OoC 1
tanx:gzﬁzﬁ
OA 1
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DN | =

X 12 x 12 X sin(180° — 135 °)
:1X12><12><sin45°
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:—x12x12x7
=362

1
(2) 5 x 10 x 10 X sin 60 °
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DE = 65in60° = 3 V3 (cm)
CE = 6cos60° = 3 (cm)
BE =8+ 3 =11 (cm)
wHEkA] 224249 BED of|A
BD — \/DE® + BE®

= 27+ 121
V148
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AADH oA
AH = AD cos60° =6
DH = AD sin60° = 63

304( cm)

ABDH ©f|A]
BD = VBHZ2 + DH?
- \/(6+8)2+(6\/§)2

@ 144 ® 196 @304 ® 340
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tan60°=%: V3, AC =83

AABC = % X 8 X 16 x sin 60 °

:%x8x16x‘/7§=32\/§

AACD:lex/§><10xsm30°
1
:5x8\/§><10x§:20\/§

OABCD = AABC + AACD
=32v3+20V3 =523




oh3 1o A 10(sin A + cos A) 2] 3277

AABC O ADBE |, /A = /E

BD DE
Sil’lA:=:—, COSA:=:§
BE 5 BE 5
4 3 7
S i A A:— = = =
Sin A + Cos 5-|-5 3
7

2. (sinA + cosA) = 10 x E= 14
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tanx = 2V3cosx & W, sinx 2] Z2 FtodEt. (H 0° < x < 90°)

V3 V3 3 23
oy ov OF o 5

sin x
tanx =

o]B 2 23 cos? x = sinx
COS X

cos?x =1-sin?x °|B2
2V3(1 - sin? x) = sinx,
2\/_—2\/_5111 x—sinx— =0
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